
USN 188C32

.:M1l!tt i_.

8"

q)
o5o
CO

o.
(!
tr

6J.o
0)
d
6)

E9r
cd=q:.
&,
= 

ra)

-oo ll

.E?

.=N(B\f,
E^
Etsotr5g
oB
Es
.=o
39
ijo
(BO
otb06
dd
-o}E!s,
'o(6
-bB'Es

d8.tro,
o-l
a.9
OE1t)i, L=
6*
l<o
ep>.*
troo
o5

=(its" c)F66:
o<
-.:oj
o

z
!

a
E

11.'_{ i

d d%y +I *ffiJ \

, 'l ' Fig.e.2(b); \ ;' lr,Iffi-{ l'u"
ffi
eryrttr. circuit shown in Fig.Q.2(c) using nodal analysis.' c. Determinpqfltffie node voltageffithe circuit shown in Fig.Q.2(c) using nodal analysis.
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b. Use M--9-fo.{nalysis to find tliffpower delivereplffie depeodent voltage souice in the
circqit iho&n in Fig.Q.2(b1.+t^ 
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Module-2
State and explain superposition theorem

Use Millman's Theorem to find the current flowing
circuit shown in Fie.Q.3(b).
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c. State and prove Norton's theorem. q,.,h 'q{r'$ (06 Marks)
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6a. In the network shown in Fig.Q.6(a). The switch k is

the steady state is reached at position a. Find i, $
capacitor is initially uncharged.
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netrvork is in stead"54 st$te with switch k is closed.
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b. For the network shown in Fig.Q.6(

At t : 0, the switch is

t=0*.
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c. For the network shown in FiS.Q.9(
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Define Q-factogrffiftivity and Band widffi (03 Marks)

A series Rl,p}ifrffiit has a resistanc" ffi$h, an inductance of 0.3H and a capacitance of
l00pF. pffiti.d vgflpe is 230V. r*pdfi) The resonant frequency ^ 
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Define Q-factogrffiivity and Band widffi (03 Marks)

A series Rl4)}ir&ffiit has a resistanc" ffi$h, an inductance of 0.3H and a capacitance oI

cut offifficies iii) current g,flfisbnance iv) currffis at fr and fz v) Voltage across.
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Derive the expression rorfhe;idra"t ******ircuit tffir* Fie.Q.lO(c). Also
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